= . o= s
2 *AT/ATBS 1) — ZABRE(Low Friction) & A TDATHFIBIES 1 ATE N < Fe bk TR W T LI TR, [AT/ATBVY) —X MR T—V]

d 20201060201 E—BIIUT4UYT FLOE |

. N 77y g | BE8.8 MU IEE |3EE10.9 ML U EIE
NIV A X
[mm] [Nm] [In-Ibs] [Nm] [In-Ibs] t

M3 x 0.5P 2.5 1.3 12 1.8 16 5',

M4 x 0.7P 3 3 27 4.1 37 |

M5 x 0.8P 4 6.1 55 8.2 73 H&

M6 x 1P 5 11 98 14 124 t

M8 x 1.25P 6 25 222 34 302 5
E—REHEHD YA R EBERRT . R TSRS, M10 x 1.5P 8 49 434 67 594 ;]
B EEENLNCT S, S S DRERID Ay RS =
(X E— 3 MU R A RO BRI 5 5) LY rHS—2ELT TS5TDRERIVIAY FEEDES, M12 x 1.75P 10 85 753 116 1028 =]

M14 x 2P 12 137 1214 186 1648

M16 x 2P 14 210 1860 286 2534

Table2 vy A 5—7R}l/ ~ F)bbi ‘ XAT - ATBELETY .

E—2Y¥Th . . _ _
NN . ' NIV FAX 72w Mg (1274~ ¢
FT7RYIVAGFAX B =
< [mm] [mm] [mm] [Nm] [In-lbs]
—_ S —. B0, —
Zm'j;?;;f e | @ Eemm s S0 7 MDY A RERERL. BETHNIE ATOBSFL/ATOBSFL| 1 oo -
: 20 v T MESEES BB, | ek ULl ATOB5FH/ATOB5FC =1 M3 x 0.5P x 8L 2.5 2.1 19
ALy FOIDORAEIRRIC TS B e ——
gzg;\pﬁ%tv bh5—% ATOTRFF/ATOT5FC | 1 Stage <14 M4 x 0.7P x 12L 3 4.9 44
ESHEIC
E8IcT5, '{ﬁ,\_, ATO9OFL/ATOSOFL1| | - ) .
Q"‘Oi\i\\“‘l ATO9OFH/ATO90FC stage =19 M5 x 0.8P x 14L 9.8 87
mh\ AT110FL/ATT10FL1
%
/}’ ATTTOFF/ATI 10FC | 1 Stage <24 | M5x0.8Px 14L 4 9.8 87
ATVAOFL/ATIA0FLT| | -
KEDLS CE—SEBBIELT AT140FH/AT140FC g <32 M6 x 1P x 16L 5 17 151
BYHBT L,
RIVFAVTRIVE (Do —EEBE) % R BEDS%T I FLILY FEENREBO LI Ty MIF— DRIV gl;gihﬁ?ﬁ%’;% 1 stage <38 | M8x 1.25P x 20L 6 a1 364
HLUFEMEN 1 ~ADIEETHIHS, (FVHE Table 1) B #H%. (MLY% Table 2) B
AT210FL/AT210FL1
AT210FH/AT210FC |  St39€ <42 M8 x 1.25P x 20L 6 41 364
AT240FL/AT240FL1
AT240FH/AT240FC 1 stage <48 M10 x 1.5P x 25L 8 80 709
AT280FL/AT280FL1
AT280FH/AT280FC | ! StA9e <55 M12 x 1.75P x 30L 10 139 1232
TRV T A7 ML RIBR. LRmiBERMEE L. BAMBE LEBIED120% T E LT AT,
KR Tel : 092-451-1202 / Fax: 092-451-1106
s de Gl BlL ReSorems TS EBRIFT3, ¥ APEX DYNAMICS, INC. E-Mail : sales@apexdyna.jp / Web : www.apexdyna.jp

VI RIVIERDD, (FIVI% Table 1) 28

APEX-2014-12-1 E
- APEX 58 - - APEX 59 -



